SRIREPESE S B %5 M 5 H B AR W

Sex ] 74 e CeasE RN LR
FRT7E6 JEEE ARG WBERREF
KA GR4BDLEOEGRE X C % &
A = ~ | 7% | 6F [N | *E* |7F|6F W%
£ E ¥ | 47 58 | -11| -19.0
N O X 5 6 -1 -16.7
® B & B & % 1 +0 —_
HIR-meNaNER 1 +0 -
A ARG - RASNBR| 0 0 =0 —
AT R M EER 1 0 1 ==
t % T 1 0 1 — A
MEErEHLNER 0 0 +0 —
TR I TILIEE | 0 0 0 — |
@ B M 8 N & m 0 0 +0 — &
—EmwERNE R 0 0 +0 - ———1
IEREE NN EE 0 2 -2 -100, 0
FYREEETTE | 0 0 +0 —
LE SR AN | 1 0 1 —
£ o o M OE % 0 2 -2 -100. 0
[ * 0 0 | =0 —
- B 8 12 -4 -33.3 I vy {48 it \
w % I ¥ gl 2 3 =1 -33.3
Fezmemms 0 3 3 100, 0 hiE() [ &h- EIP/IEH{E
£ o o R B & 3 1 =1 -25. 0 19.1%
o B % | T 10 -3 ~30.0
J:it -ERREEER 0 0 +0 —
AERREE - RERRRER 7 10 -3 =30, 0
knnnlagl-nl-gl 0 0 +=0 s
Bk - WEE - OKER|] 4 1 3 300.0
.3 2 0 2 —
] ﬁﬁl 4 10 -6 60. 0
A % gl 3 [ -5 625
B_- L & 0 1 -1 ~100.0 HAFH-EE22h
g ® = %| 7 12 5 41.7 & a%
= @ o 11 -4 —36. 4 ’
[ 4 0 4 -
" " = 0 1 —
*® 3 | ] 0 2 —
L N 7 8O i| 0 1
. & & 2 2 +0 — PEEXN 8.5%
At TR z 1 1 100. 0
€ [} {a| 6 4 2 50. 0
L 4 = = 3 1 2 200.0
B ERJUN PO ERIHBEEENNE I LD, WECHFIRCAEMEZLS,
k- FTa3%
s =
MZ26.4%
!
e-Gov
11 70
? _
10
BFPERI=27N BFRRIT=aTL
o [ =rma—rpsen |
FNOR-ATIE :
HELTWEIEHET.
10

hea bt L LB ]
EREr IO~ [



98

KY

51:2014

IEC

ISO

if

RA

KY

<
x




